
1) Seller concentration measures
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Key elements of the industry structure, 
affecting a firm’s competition context, are:

a) Seller concentration

b) Barriers to entry

c) Degree of product differentiation
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 It refers to the number and size distribution of firms.

 It is the most widely used indicators of industry structure.
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Before measuring the concentration it is necessary to identify 

the market: 

◦ “the entire territory of which parts are so united by the 

relations of unrestricted commerce that prices there take 

the same level throughout, with ease and rapidity” 

(Cournot, 1938)

◦ an area in which “prices of the same goods tend to equality 

with due allowance for transportation costs” (Marshall, 

1920)

We can have a product and a geographic definition of the 

market.
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 A market includes all products that are close substitutes for one 
another, both in consumption (ex. Coke and Pepsi) and in production 
(ex. corn or soybeans) . 
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CED (CROSS ELASTICITY OF DEMAND)

pbread = 10 qbread = 100

pnutella=20 qnutella = 50

pcrackers = 15 qcrackers = 70

There is an increase in the price of bread, which passes from 10 to 13

pbread = 13 qbread = 80

pnutella=20 qnutella = 45

pcrackers = 15 qcrackers = 91

CEDbread,nutella= (45-50):50 / (13-10):10 = -0.1/0.3= -0.33 (COMPLEMENTS)

CEDbread,crackers = (91-70): 70 / (13-10):10 = 0.3/0.3 = 1 (SUBSTITUTES)
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If CED is large and positive the two goods are close substitute in 
consumption, if large and negative, they are close complements. 
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CES (CROSS ELASTICITY OF SUPPLY)

ptractors = 1000 qD
tractors_firm_A = 100

qS
cars_firm_B = 50

qS
tractors_firm_B = 1

There is an increase in the price of tractors, which passes from 1000 to 
1500

ptractors = 1500 qD
tractors_firm_A = 130

qS
cars_firm_B = 10

qS
tractors_firm_B = 30

CEScars,tractors= (10-50):50 / (1500-1000):1000 = -0.8/0.5= -1.6 
(SUBSTITUTES)
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If CES is large and negative the two goods are substitute in 
production. 
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We are in the same geographic market if an increase in the price of a 
product in one geographic location significantly affects either the 
demand or supply (and therefore the price) in another geographic 
location.

Both definitions depend from the features of the product and from the 
supply localisation (highway, internet, etc…).
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 Substitution in consumption or production is always a matter 
of degree, but it is necessary to identify specific boundaries, 
both in production and in geographic space

 The antitrust authorities use the SSNIP (small but significant 
non-transitory increase in price) test: would an hypothetical 
monopolist producing good 1 (or located in area X) find it 
profitable to increase price by between 5 and 10%? If so, good 
1 is a market by itself (area X is a geographic market). If not, 
the market definition should include the related goods 2 and 
3 (or other areas). 



Concentration can be measured at two levels:
1. Aggregate: for all firms that form part of an economy, located 

within some specific geographical boundary. It reflects the 
importance of the largest firms in the economy as a whole (that 
could have opportunities to exert a disproportionate influence 
over regulators or politicians).

 share of the n largest firms in the total sales (or assets, employment, 
etc.)

2. Industry or market: reflects the importance of the largest firms in 
some particular industry/market. This is particularly important 
because the measures of industry seller concentration may 
reflect the implications of the number and size distribution of 
firms for the nature of competition. 







1

3

N.B.

The Gini coefficient 

varies from 0 to 1



14

Sector 1

Firms % sales

1 50%

2 25%

3 15%

4 10%

CR2= 50% + 25% = 75%

Sector 3

Firms % sales

1 50%

2 25%

3 1%

4 1%

5 1%

6 1%

…

26 1%

27 1%

CR2= 50% + 25% = 75%

Sector 2
Firms % sales
1 50%
2 25%
3 10%
4 5%
5 5%
6 5%

CR2= 50% + 25% = 75%

HH= 502 + 252 + 152 + 

102 = 3450

HH= 502 + 252 + 102 + 

3*52 = 3300

HH= 502 + 252 + 25*52 = 

3100
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Some caution is needed while interpreting the results of 
concentration measurements:

a) Choice of appropriate industry definition: all substitute 
products have to be included. With tight limits, almost any 
firm could be considered as a monopolist. 

b) Definition of market boundaries: of course, local 
concentration measures are higher than national or 
international ones. 

c) Treatment of imports and exports: by excluding imported 
goods (or including exported goods) from the calculation of 
a concentration measure for an industry in the national 
economy, measured concentration might either overstate or 
understate the importance of the largest firm.

d) Multi-product operations: many larger firms sell goods or 
services across a wide range of separate markets, while 
firms are classified according to their main product.



United Stated Supreme Courte sentence, United States v. E.I. DuPont de 
Nemours and Co., 351 US 377 (1956)

The United States Supreme Court failed to detect the du Pont market power 
because it gave an overly broad definition to the relevant market, 
considering paper packaging as substitute of plastic wrapping. 

In reality du Pont held a virtual monopoly on cellophane.





19

UK (CR5) 2004:

• Sugar: 99%

• Tobacco products: 99%

• Gas distribution: 82%

• Oils and fats: 88%

• Confectionery: 81%

• Man-made fibres: 79%

• Coal extraction: 79%

• Soft drinks and mineral waters: 75%

• Pesticides: 75%

• Weapons and ammunitions: 77%

UK industries with the lowest CR5:

• Metal forging, pressing etc.: 4%

• Plastic products: 4%

• Furniture: 5%

• Construction: 5%

• Structural metal products: 6%

• Wholesale distributions: 6%

• General purpose machinery: 8%

• Wood and wood products: 9%
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1) Economies of scale

2) Barriers to entry

3) Sunk cost expenditures

4) Regulation 

5) Distinctive capabilities and core competences

6) Industry life cycle

2
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2) Barriers to entry and exit
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Key elements of an industrial structure 
affecting a firm’s competition context:

a) Seller concentration

b) Barriers to entry

c) Product differentiation
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- Conditions that allow established firms or incumbents to earn 
abnormal profits without attracting entry (Bain, 1956);

- A cost of producing (at some or every rate of output) which 
must be borne by a firm which seeks to enter an industry but 
is not borne by firms already in the industry (Stigler, 1968);

- Any competitive advantage that established firms have over 
potential entrants (Spulber, 2003).

They can be: 

a) Linked to product or technology characteristics 

b) Legal

c) Strategic 
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1. Economies of scale

a) The nature of technology may be such that firms must claim a large 
market share in order to produce at the MES (natural monopoly);

b) The penalty for producing below the MES can be very high 
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2. Absolute cost advantage
This could happen because:

a) Incumbent may have access to a superior production process, hold 
patents or be party to trade secrets;

b) Incumbents may have exclusive ownership of factor inputs forcing 
entrants to rely on more expensive, less efficient or lower-quality 
alternatives;

c) Incumbents may have access to cheaper sources of finance:

d) Vertically integrated incumbent  may force an entrant to operate at more 
than one stage of production to overcome incumbents’ cost advantage.
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3. Product differentiation: customers are loyal to the established 

brands. To overcome existing brand loyalties or customer inertia 
high advertising costs are required to entrants;

4. Switching costs: faced by customers deciding to change the 
supplier of a good/service (search and how-to-use costs). Further 
switching costs arise when a good/service is tied to an aftermarket 
(refills/components): bargain-then-ripoff pricing. 

5. Network externalities: the value of a product/service to a consumer 
depends upon the number of other consumers using the same 
product/service. When an incumbent has already established a wide 
user network, entry is more difficult. Success in establishing a 
network depends on users’ expectations as to which network will 
achieve dominance. 

6. Geographic barriers: physical (frontier control), technical (technical 
standards), fiscal (tariffs), preferential public procurement policies, 
language and cultural barriers.
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Erected by the government and enforced by law. 

- registration, certification and licensing of businesses and 

products (ex. official permission to trade);

- Monopoly rights;

- Patents; 

- Government patents. 
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Intentionally planned and implemented actions aimed at excluding or 
making it more difficult for entrants to access the market. 

The aggressiveness of incumbents depends on the existence of exit 
barriers, i.e. high costs that incumbent firms have to face in order to exit 
the market. The main exit barriers are:

- Sunk costs: highly specialised machinery that are difficult to transfer;

- High fixed exit costs (ex. Labour costs);

- Strategic interdependence with other activities;

- Emotional barriers;

- Political and social barriers. 

The presence of exit barriers can be considered a typology of entry 
barrier, because they induce incumbents to be more aggressive. 
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The main strategic barriers are the following:

a) Limit pricing: the incumbent might try to prevent entry by charging a 
limit price, i.e. the highest price the incumbent believes it can charge 
without inviting entry (lower than monopoly price, above incumbent’s 
average cost: abnormal profit). It is effective only if the incumbent 
enjoys some form of cost advantage over the potential entrants. 

b) Predatory pricing: incumbents cut prices in an attempt to force a rival 
firm out of business. When this happens, the incumbent raises its 
price (the boundary between illegal anti-competitive practice and 
legitimate strategy is very fuzzy).

c) Brand proliferation: the incumbent crowds the market with similar 
brands in order to deny an entrant the opportunity to establish a 
distinctive identity for its own brand (risk: cannibalisation). Similar 
strategies: loyalty discounts, exclusive dealing and refusal to supply. 
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Limit price (ex.)
Profits with limit price

LRAC of potential 

entrants

LRAC of incumbent

The highest price the incumbent believes it can charge 
without inviting entry: lower than monopoly price, above 
incumbent’s average cost: abnormal profit. 
It is effective only if the incumbent enjoys some form of 
cost advantage over the potential entrants. 



Profits of incumbent 

with limit price

LRAC of potential 

entrants

LRAC of incumbent

The highest price the incumbent believes it can 

charge without inviting entry: lower than monopoly 

price, above incumbent’s average cost: abnormal 

profit. 

It is effective only if the incumbent enjoys some form 

of cost advantage over the potential entrants. 

Limit price (ex.)

Profits of entrant 

with limit price



LRAC of incumbent

The highest price the incumbent believes it can 

charge without inviting entry: lower than monopoly 

price, above incumbent’s average cost: abnormal 

profit. 

It is effective only if the incumbent enjoys some form 

of cost advantage over the potential entrants. 

Limit price (ex.) Loss
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• 1950-1960: 23 new brands;

• 1961-70: 41 new brands;

• 2000-2010: 77 new brands.

Source: Tremblay V.J. and 

Tremblay C.H., New 

perspectives on industrial 

organization, Springer, 2012
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Barriers to entry impact on the profit level: if high, they allow 
incumbents to earn abnormal profits. 
Barriers to exit impact on riskiness: if high, they force incumbents to 
stay and may determine a persistent situation of losses or low 
profits.



Barriers to entry vary across time for type and size. 

They have an impact on market contestability

1 seller = monopoly?

100 sellers = perfect competition?
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Analysis of the competitive environment

1. Seller concentration

◦ Definition on market

 Substitution measures

 Market boundaries

◦ Measures

◦ Determinants

2. Barriers to entry and exit

◦ entry

 Definition

 Typologies

◦ Exit
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Reading list
- Chapters 9, 10 (exl. 10.3, 10.4), 11 (exl. 

11.4, 11.7), Lipczynski et al., 2013


